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SR QUESTION ENGLISH / HINDI OPT 1 OPT 2 OPT 3 OPT 4 ans
1 Maximum distance between two discharged rod is? [1000 cms |100 meters |1 KM 500 meters o
3 fe=arst e & di siferam gt T 8 ? 1000 3. 100 Hex 1 foreiriier | 500 #iex
5 The safe working distance for 25 KV AC OHE is im 2m 1.5m 1.25m °
25 ot gRft siigas o forg R ol 3t 8 1. 2+t 1.5# 1.25 #t
3 The minimum permissible OHE voltage at SP is 19 KV 18 KV 20 KV 21 KV 1
Tt H =g 17T OHE et 8 19 &.4% 18 &.4%. 20 %, 21 %
4 A combination of cells shall be called as Cells & cells [Charged Discharged |Battery 4
PIRTBIA T G TSI &b Y § AT ST I AR JA | wRa @RS CLAll
. Resmta;cceoﬁr;J (L:Jc(;?éiructor decreases with increase of L~eng th Temperature | Area Resistivity .
FHSTC BT ARRIY i gfg & T e § AL & E
6 Cell voltage of Lead-Acid cell is 1.5V 10V 1.8V 2.2V 4
re-uRis It o It dlee ot & 1.5 10t 1.8 2.2d
. E:Ieecrg;cal cell converts energy into electrical Dynamic Chemical Thermal Solar )
faerd Jat St B faegd St # aRafia s & s ™ T (AR
The battery increases if the cells are
8 connected in series Current Capacity Voltage Temperature 3
Ife PIREAISH(CELL) 3igem # I8 g0 & ot 9t &t BGIES &TTT ICERKAES GIRGIEE
_ doare
. Clear
9 Colqur of new transformer oil is Transparent Red Dark Blue [Dark Green 1
TMAEFRAABII & e o | T TR | TR
10 The unit of transformer isin AH Volt-Amp Watt-Hr Ampere 5
SIRIBTR 1 ghTs Tg-sieT g |de-Ha
11 BDV value of transformer oil should not be less than |25 KV 60 KV 6 KV 10KV >
TIBER et BT BDV A J ¥ & BT =Ry 25 %4t 60 .. 6 F.. 10 &.4%.
12 LA rating of 25 KV system is 25 KV 42 KV 15 KV 18 KV 5
25 dt gumredt @t Gerq (esfeT ARRESTER) &g |25 %t 42 . 15 %% 18 &.4%.
13 LA rating of 132 KV system is 120 KV 100 KV 50 KV 475 KV 1
132 %t yoTTett @t Gy (asfdT ARRESTER) e (120 %t | 100 .. 50 &.4. 475 % .
14 IR value of 42 KV LA should be 250 M Ohm |1 G Ohm 10 G Ohm |200 K Ohm >
42 %} Terq &1 IR A BT ElIY 250 # 3irgd |1 i aigd |10 i afigd | 200 forett sigd
In a Traction transformer bushing C.T is used for
. ; ; OCR DPR EFR DFR
15 | e FuvT gIBER § bushing C.T &1 ST & 4
ora Foven el & MR SR 3 T 3R 8 U IR
Hand
Operated
16 The elementary section supply is controlled by CB BM (S)/l\:,C'LOAD BX 3
RIS B R 2 1) 11 SN A & 0| e SR G2 A1 3 KT . o1 <R CIRG
3if-eire o
/ S,
17 Height of height gauge is 467m 48m 50m 52m 1
S A &1 I Bt ST g 4.67 #t 48 5.0 #t 5.2 4t
18 Broad gauge of Railway is 1000 mm (1676 mm 952 mm 976 mm >
EEEIE ISR g 1000 feft (1676 et |952ft 976 fndt
19 IR value of OHE elementary sectionis__ M Ohm |5 10 8 25 4
OHE mufish AR b1 IRAM S igq 8 5 10 8 25
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20 1 Tonne is equal to Kg 100 1000 40 400 >
1c9 fohetIuTd o SRR & 100 1000 40 400
o1 Codal life for Detonator is years 20 7 10 5 4
STHER & forg it Sitaw ELE 20 7 10 5
¥VhICh tool is used to tackle heavy load and tensile Discharge Ml Grease Power Hack
22 | unf o oe e aer & a3 o o Rod et e [T Saw 2
SRS RiEcauical o -
ST Fapert ST & ISEIEES W ™ UTeR AreT-31_t
To hold
To earth POH of ATD \éV:r:?:cEtOf None of the
23 Tool name pull lift is used for OHE T <L S @ wires above 3
T 9 YA forore T SURRT 35T STl & ATAZH ST Sl T R T | A P o
arefiT BBl Tor T
ferg
P type portal may be used in place of
o4 portal N (@] R BFB 1
P R GIcel BT SuanT Oice & M R 5 | 3 AR v f
ST Febell &
o5 Long creepage distance is mm 2000 1000 1050 760 3
el creepage &t [ mm g 2000 1000 1050 760
What probable defects you would suspect to given
insulator? i) Dirty surface ii) Broken Shell iii) crack Liii v i iv Vi Lii.iiiv.vi All of the above
26 |iv) prohibited make & batch v) flash vi) loose Gl cap I’ii v ii’iv,vi I,ii’iii,v’vi AT 4
FgeICR TR TR BI 2. §)7el T8 i) gt gam SaRet iii) | 7 o T
R iv)fg Hat 3R 971 v) Teter vi)dten SiteTs &y
o7 Z value of winch type ATD at 35 Cis____meter. 1.25 1.5 25 5.6 1
TRE UBR Bt ATD &1 Z 4 35 -C W e & 1.25 1.5 25 5.6
28 Steady ci::‘irance with Drop Bracket Clamp is 100 195 300 280 5
ST epe el 2 el Rer P it 2 100 125 800 280
2 Standard anchoring height of regulating OHE is 6.75 58 75 7 o5 1
OHE & frife o a8t e 3 6.75 5.8 7.5 7.25
Cross section area of catenary wire is 48 65 45 50
30 |sqmm 48 65 45 50 2
FHTRI AR BT UR-STHRI & it et 8
31 Brindle wire is used for OHE Highway Trussway Tramway |Noway 3
fifeet arR &1 ITET OHE & feg fran sren & | \ei A1t [5:CH faegper &t
32 General tendency of contact wire paring is at ACC RRA FTA EWA >
Plecae IR TR @) I ugfy ( WRE IR AR IR THEY ERSEP AN
Section
Insulator
S[FHTT
33 Adjustable dropper is used for ATD RRA ERiAY ACA 3
TSI SR T ST 3 forg foman ST & T St 3R R T (fas®,  |weie
fortett @t
RT
RAH1aTe)
s Cross-sectional area of new contact wire is 841407 100 86 95 1
107 100 86 95

mm
Y AU IR BT OR-SIHFIT &5 i fndt @
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Ohm meter is used for measurement of
35 ? Voltage Current Resistance [Inductance 3
e HieR Bl IUGRT H AT S g fpar | fae e I EINNE 3™
S g ?
Multimeter is used for the measurement of . All of the
Voltage Current Resistance
36 |? fre e - . above. 4
A IR T STFRT ! A1 & forg fma S & 2 SR & At |
In a circuit, the Ammeter shall be connected Parallel Series Open None of the
37 |in ? S . circuit Above 2
|fdhe #, Ammeter | 1 8 ? ! GA aRUY |3 QA Big Wt T
38 Unit of Electric energy consumption is ? AH VA KWH KVA 3
faed St @ Bt 3pTS 27 T-EeT qlec-T frelt are-sie | fopel) aTee-Tg
39 1HP= Watt 546 440 230 746 4
1 3199 oifddT = _ a1 546 440 230 746
Which type of material are clasified as per
40 temperature? Conductor [Insulating Magnetic [ Semi-conductor >
ot UhR &t TR DY ATGHTE b SRR T ([l STl | HTedh EECIR 37ef aTEH
g7
The lowest category of insulating material as per A B X v
41 |thermal category is? A B X vy 4
o Soft & IR §ietie AWt &t e SRt & 2
Normally, generation of electrical energy is done in
42 phases? 1 2 3 4 3
M AR R, fage ot &1 Sedred TROT H T S |1 2 3 4
87
Which device is used to protect transformer from Buchholz
43 excessive internal pressure? PRD Rela MOLG Drain cock 1
TRIBRER B M MRS gd1a F 9 & forg fors GRSt gaiaérﬁé A Gerstt | FreRTT pieh
IYFRYT 1 IYANT fhar S & ? :
44 E;)I\l/;zrg);ithat oceur in transformer winding s Iron Loss Copper Loss | Water Loss | Oil Loss >
TIIBIR ST § B9 aTel GlaRars ! el S & 2 et it T T & i e
Transformer
45 ONAN/ONAF are types of? :o;ntlgnrg Winding Iﬁ:n or Earthing 1
ONAN / ONAF 51 TR 3 & ? %ﬁqﬁ_\,aﬁ TR %qqgm arefi
Sftder vomett
Test is done to test electrical strength of R
46 transformer oil? SRE DGA BDV PPM 3
TIC TNABRR ot & fAEe AIfet T UieroT vt AN SIS @S d Gidtes
& forg fomar S & 2
Differential protection works against which type of | Internal Over voltage Over Low Oil level
47 |faults? Fault Wﬁ@gﬁ current Ay e 1
fariger wRevT fohs YR & QNI o Reclis A drcig ? | 37faRas a 2 ICARECI T
48 Which relay gets input both from Ct & PT? OCR DPR EFR DFR >
g R @ Ct & PT Q41 9 37qc fAere & ? e SiflemR S UOhRTR BRI
49 Most suitable place for cable storage is? ,I\DA::Et & glfrﬁtgﬁt g{iﬁgark Dry & Sunlight 3
] ? . :
HIA HSRT P folg T USRI S1TE & 7 malvait |maRem | T 3R e
Hand tool used to put lug on cable core tightly . Crimping
oo ol e R A TR
12T SUBRYT DT AN Had DR TR HABY G & ol =5 =l Thgrtan U3 aret T Bt
o e & ? JABRT
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51 |Voltage ratio of PT Type-lis ? 52%1100%\/ 15KV/110  |25KV/AOV [110v/32V 1
dict T1RY- | &1 dlee St 1T g7 N 15KV/110  [25KV/10V |110V/32V
Size of All of the
52 Factor that affect insulation resistanceis _ ? [winding Temperature | Moisture above 4
SN URRYY I 91T PR aTell PR 27 |gHaeR @ |dmE T '
SR & A |
PR
o5 Unit for ’Teasurement of polarization index is Volt/s . gg;g;/ Volt/rotation | No unit. . y
e AP 49 e/ whs | oo alee/aIRR | PIE THTE T |
54 Electrode gap of BDV tester is ? 100mm 25 mm 2.5 mm 250 mm 3
BDV usierss &1 goidels iR g7 1004 /. |25+ . 25+ /. [250 #. .
In a circuit Voltmeter should be connected Seri p Open . .
55 |in o eries ara‘IIeI circuit series-series >
Jfdhe § diccHier o J gl AT =Y 2 e AR ot aRue LT3
56 Unit of electrical power is ? Ampere Watt-Hour |VA Watt 4
EESRIESEIREDF) 27 G qre-giet lec-gy are
is used for measurement of SPG of
57 battery? Ammeter Wattmeter |Hydrometer | Hygrometer 3
et & gadieh (e @) F A F o | ofTeR areHtex I
IO o ST & 2
POH of power transformer is done after
58 yrs? 2 4 5 10 4
OTaR SRR T Gaiva a¥ & a1g o S | 2 4 5 10
87
The symbols R60/R10 and R600/R60 bears
59 relation with? BDV PPM tanD PI 4
ueites R60 / R10 3R R600 / R60 CAGIPACCCENEIREH Bl --& EII
2?
Shri Do
. Shri Rajesh
60 Who is present MTR of Indian Railways? girg]zr;]shyam gngr[r:{;( Tiwari Shri S.K Jain 3
7 2
YR eT BT THT TICIINR DI & 7 rs P it 3rorer St g & ST
S T
61 Dilwara Temple is situated in state? Gujarat Maharashta [Rajasthan |Bihar 3
fetarer iR o H Rerd 8 2 ORI TERTE TR foER
62 Total no of divisions of Centrsl Railway is? 6 4 5 7 3
qe Y] oot Fediorl ot et e 6 4 5 7
63 National Rail Museum is located in ? Mumbai New Delhi Hyderabad [Chennai >
T Y SR b fRerd & 2 iCH] & el EERICIC ERuE
64 Welfare Inspector works under which department? |Personnel [Mechanical |Commercial |Operating 1
FHeamT fiteres {5 T & 3fcie M o & 2 GalEcy Titw e | SiRfeT
Child care leave for female employee is given upto
65 days maximum? 660 560 700 730 4
Afge HHAR! & fofg STeT SEHTeT JTaehTe =i e | 660 560 700 730
Srfererc faam ST & 2
66 form is used for major penalty? SF1 SF5 SF9 SF11 >
HiH 1 SUA HE S & forg frar w8 ? | SFA SF5 SF8 SF11
Emergency
67 AAC is for ? Stock Non-Stock | Stock Imported stock 1
AAC (anfiies 3rgATret @ud) & fegg? HISR TG HTE | MUdemelE | mnfid ¥eied

19

XClh
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Maximum Encashment given at the time of

68 retirement for nos of LAP leaves? 300 280 250 350 1
LAP 3T & T & forg Sarghy o w9 fear | 300 280 250 350
T AfThHTH ABHEIHRIT 2

69 PL No is denoted by digits? 8 10 12 6 1
PL ¥R &1 3jepl gRT FFrefue fhar ST 8 2 8 10 12 6

70 40% of 25 is ? 8 5 10 16 3
25 P11 40% & ? 8 5 10 16

71 5 feet= inches? 50 60 40 48 5
5%ie = 3a? 50 60 40 48

72 1 Hr= seconds 60 600 360 3600 4
1der= Jehe 60 600 360 3600

73 180 Km/Hr= m/s 50 18 30 36 1
180 fat / EieT = ez / Aebe 50 18 30 36
Combined earth resistance of TSS should not be

74 more than Ohm? 0.5 5 10 50 ’
TSS @t \ger gedt giRie A IAfPp & 0.5 5 10 50
B =Y ?

75 The ideal value of EPR at sub station would be ? 1 5 0 10 3
e ¥ R SYIRTR T 3M1eet Fe 81T 2 1 5 0 10

Yard Filtration Power Factor

76 100 KVA AT of TSS is used for Lighting Stand By Plant correction 3
TSS & 100 FaiY TSt BT STANT o ST & - ITHY TS BT Pt < %ﬁww

77 LA may be tested from Megger TRUE FALSE 1
LA o1 otetor AR < faa ST Aehell & SE] B

78 4 +16 =? 20 6 12 8 o
N4 + 16 =? 20 6 12 8

79 ITR is fault sensing relay. TRUE FALSE >
ITR TTerctt Haew Ret 8 | T ZaT

80 There is fuse in the secondary of the CT. TRUE FALSE o
secondary ¢t § /g & L) EG)|

81 TI/Ml is issued by RDSO TRUE FALSE 1
RDSO &R Tl / M| SR} {2 St & SEl EC)

82 Implantation is also known as setting distance TRUE FALSE 1
TRIRIYUT T G T vt & w0 A W ST STTen & SEl B

83 54 mts span length is a non standard span TRUE FALSE >
54 Hex T P e18 b IR 9Hd T 8 SiC) ot

84 PSC mast means mast made up of concrete? TRUE FALSE 1
PSC A1 &1 Hdeld 8 Sahic | a1 ARC . SEl B

85 Z bond is provided nearby to track circuit? TRUE FALSE 1
SIS §ivS [fhe ! U R & fo1e UeT fopar Sian & 2 I =G|

86 PTFE neutral section is provided in SSP overlap. TRUE FALSE >
SSP 3fa=el #§ PTFE gl IRF USH fhar sian e | || EG)|

87 Clear span of R-Tube portal is 30-40 m. TRUE FALSE 1
JR-TTd Uice @t Clear span 30-40 Hlex 8 | GE] E)]

88 Minimum implantation is 23.6m. TRUE FALSE 5
FATH RIUT 23.6 Hiex 2 | SE] gl

89 SS rope is treated with Balmerol 100. TRUE FALSE 1
T It BT STl aeiRiel 100 F T fran s g | (== =G|

920 8.5 Mts rope is suitable for winch type ATD. TRUE FALSE >
8.5 Mts =t =R&t gehR ATD o forg Sugert & | GE] EG)]
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91 Duration and replacement of PG clamp is 20 yrs? | TRUE FALSE >
PG Fid @t 31af¥ 3iR nfreer= 20 av & ? Sl Bl

92 Size of structural bond is 40x 6 mm TRUE FALSE 1
IR Se BT AMBR 40x 6 HHE & SE] =]
No qf ca}ution board applicable to each neutral TRUE FALSE

93 |section is 47 . 1
TP AT AR IR AN DS e+ a1 4 § 2 X

o ?;ggr::lfl}y the tension length of regulated OHE is TRUE FALSE 1
e R R siea @ oo S 1500 Fexd? N0 &
Besistgncg value of conductor increases by TRUE FALSE

95 |increasing its area? .. 2
3T & I IGTHR HSTIEX b UARIE Hod Sgall & ? et

9% 1 meter=1000cm? TRUE FALSE 5
1 #ex = 1000 I ? L) EG)|

97 Flash point of transformer oil is 140 -C YES NO 1
TIRIBER el o1 Forel fiig 140 <C & & REl
There is no relation between turns ratio and volatge

98 ratio of transformer? TRUE FALSE >
CIRIGIR & PR 3101 iR diecs ITUId & §19 Pl ey [Fa G
TEE?
Transformer works in both directions, i.e Primary to

99 Secondary & vice-versa TRUE FALSE 1
TIABER S femall § B e 2, i e I =G|
W SR 3 fausid

100 Normally HT bushing is Qil filled type? TRUE FALSE 1
M IR R Tt BUSHING Tt  *RT YR & ? S Bl
ifaern= & fors Sree( JNféamer) & dad fEst @Y ot

101 1 STl UTT & | TS 343 |3TIE 344 | oTIR 345 |3 E 346 ’
e & farT rqes( nféaren) & ded i @t JorTeT |31 es 343 [orTmq 344 |z 345 | eI 346
PSS U & |

102 28 oo fop R AT S 2 2 14 o8 14 3 14 RER (14 R 3
&<t gy fors fomr meiman ST & 2 14 FeTg 14 3R 14RdeR |14 R

103 SIS form o o & 2 1974 1975 1976 1977 3
oA form T e o 2 1974 1975 1976 1977
RTSTHIST 19 & STIRIR Aed Xeld , FETveieish praierd (o7

104 § 9 foper &7 Rerg € 2 P g T g 5
RISTHTNT M & IRIR A Yold |, Felve eI Bt i (& g T g
H 3 fop e A Rerg € 2

105 1 & & B9 A1 Yol oRT 3 (3) BT Yol &l 8- A 3R | fewoft TR aRu= 5
1 & & 319 A1 Yol R 3 (3) BT Yol &t & A 3R | fewoft TR aRo=
RTSTHTNT BT AT BRISHH Ufiay YR WRER T8 HAer™

106 GRT ST fapar ST & | &l &l 1
RTSTHIST T AT HRIZHH Ufiay YR IRBR & HATerd =i &
GRT ST foaT ST & |

1 07 | TS SR 5 9 TR E | & T 1
TSI IR & 9 UIRTY & | El &t

108 TSI M & il & &1 & sRATT I ST 8 | &l &l 1
TSTHTST M o 3l & &  gRIoT Ieg I ® | El &

10 | ST & I1gEE 351 3 S R wier Bl o € | & REl 5
e & 3rTEE 351 3 TR S e &t AW R | & REl

110 [ET XA & HYA XTSTHINT 31T ot gt famer & | & REl 1
HE el & T XTSI JATH 4t ot areR § | & &




